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Qd, = 0.218 X C X T X A (A<4.0km*: EE|A)

= 0.278 X 0.8 X 125 x 0.1294 = 3.597 m3/sec
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= 0.8 X X 0.800 % 0.3091%° x 0.0782Y% = 5.455 m®/sec

1
0.015

— $=2FAS = 7.82%
. Qd = 3.864 m’/sec < Qi = 5.455 m/sec O|22 MAZF+F X It52t.

C}. STA. 0+060 ~ STA. 0+100 12t
1) Manning T4{0f| 2|8t Fx3F &%

Q = 0.8 X AV = 0.8 x —’11 X A x R x $17  (mP/sec)

= 0.8 x 5 (1)15 x 0.800 X 0.3091%% x 0.0403Y2 = 3.916 m®/sec

— =EBA S = 4.03%
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_ I x D 240 2 e 2
A = 4 X 360 + 3 X sinb) = (0.63185 D

P=II><DX%8=2.O944DZ

A _ 063185 D _ 400 p

D= ()" = () — 0.95m = 01,000mm

- HiZ=& 01,000mme T+ Qi = 4.1607 x 1.0%® = 4.161 m*/sec

© Qd = 3.597 m¥sec < Qi = 4.161 m’/sec 9|22 Hi+1{2] I}50t% & 1,000mm

12

Lt. STA. 0+025 ~ STA. 0+060 2t
- FEBALS = 7.82%

- Y Qi = AxV = A X L x B x [ oM

= 0.63185 D%~ 7 013 X (0.3018D)%® x 0.0782'%2 = 6.115D%°

D= (—8 ) = gﬁ‘% ) — 0.84m = 01,000mm

- Hiz=a 01,000mme T+ Q@ = 6.115 x 1.0*® = 6.115 m®/sec
- Qd = 3.864 m*/sec < Qi = 6.115 m¥sec 0|2 Hj~XZ] IH50[0 &1,000mm

A2,

Ct. STA. 0+060 ~ STA. 0+100 2t
- =EBAS = 4.03%

- BT Q= AXxV = A x —}1 x R¥? x P2 oy

—164—




= 0.63185D 5 (1)13 x (0.3018D)2°% x 0.0403'% = 4.390D%?

D= (2% = (43" = 1.00m = 01,000mm

_ HjAR ©1,000mme BT Qi = 4.390 x 1.0%° = 4.390 m®/sec

- Qd = 4.385 m*/sec < Qi = 4.390 m¥/sec O|2Z U= 500 @1,000mm

&g

Zt

2}. STA. 0+100 ~ STA. 0+114 ¥
- 23S = 4.59%

- BEY Qi = AXV = A X = x BPx [P oM

X (0.3018D)%® x 0.0459"% = 4.685D%*

— 2 x 1
= ().63185 D 0,013

- __Q___ 38 _ _4.593 \as _ . '

—~ HiZ=& ¢1,000mme T=T Qz = 4.685 x 1.08% = 4.685 m®/sec

Qd = 4.593 m*/sec < Qi = 4.685 m*/sec 0|22 HI+X{2| IF5 0101 @1,000mm

zZxe.




